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Name; &\/
Limiting Reactants & Percent Yield

1. Identify the limiting reactant when 4.68 grams of Fe** reacts with 2.88 grams of

RrS»kS sulfur to produce. FeS. 7
Me | (e Fe \[Mc\; FeS ] Cbﬂ:j fe s 7—7—77«55_‘;' PR J
51%3 e I | mee Fe l | midle e S ;‘,‘-,@L;‘Lad
\ -5 wels S | L mola RS | =50 S - 5 q
. = At S J(_r - ]CIQL{fS
239 > | mele S L oo €S J
2. Identify the limiting reactant when 5.87 grams of Mg(OH), reacts with 12.84
grams of HCl to form MgCl; and water. How much MgCl, is produced?
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3. a. If 80.0 grams of CaCl; react with AgNO3, how many grams of AgCl are [vj‘f (/3,

produced? CaCl; + 2AgNO; 2 Ca(NOs); + 2AgCl

| | mo W ((JLC‘), J A mols ﬂﬁ CJ '




4, a. If 500.0 grams of KI react with 500.0 grams lead (II) acetate, what mass of
Pbl, is formed? Pb(C;H303); + 2KI = Pbl, + 2ZKC;H50;

o vy
) ¥

b. How many grams of excess reactant will you have when the reaction has gone
to completion?
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) c If592 grams bf Pblz wefe pi‘bduc’:éd, what was the pérceﬁt yield?g :

Answers:
1. Fe produces 7.35g FeS. S produces 7.92g FeS.
Therefore, Fe is the limiting reactant and only 7.35gFeS can be produced.

2. Mg(OH); produces 9.6g MgCl,. HCI produces 16.8g MgCl,.
Therefore, Mg(OH); is the limiting reactant and only 9.6g of MgCl; can be
produced.

3. a. 206.8g AgCl
b. 80.9%

4. a. 694.6g Pbl,
b. 10.3 g Pb(C,H30,)2 left over
c. 85.2%



